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Geo-Energy Question - Answers

Below you find 10 statements; some are true, some are false.

Please indicate for each statement whether it is true or false.

The concept of ‘accomodation space’ in stratigraphy is determined by climate | false

When a sourcerock is buried, it will first produce gas and then, at greater depth, oil will be generated 9 false

The compressibility factor Z is independent on the type of gas ’,} false

Gypsum is the first mineral which precipitates when a sea or salt lake dries out through evaporation { true

Fluvial point bars have a limited lateral continuity g true
Subsidence and sea-level rise have an opposite effect on marine sedimentation (, false
A compressional subsurface stress field generates reverse faulting } true
Reflection seismic data yield higher resollution subsurface images than gravity data % true
Gas hydrates represent the largest fossil fuel resources on the planet 4 true

. One barrel-of-oil-equivalent (boe) is approximately equal to 1 m® of gas at standard conditions (( false



